Form 2146-L (Rev. 10/11) Page 1 of 1	ANGE ORDER NU	IMBER:	005		
1. CONTRACTOR: Chasco Constructors		CCSJ:	0914-05-191		
2. Change Order Work Limits: Sta. STA 243+00 to Sta.	TA 243+40	Project:	Brushy Creek Trail		
3. Type of Change (on federal-aid non-exempt projects): Minor	(Major/Minor)	Highway:	n/a		
Describe the change and the reason for the change order. When need exceptions to this agreement.	cessary, include	County:	Williamson		
RIPRAP (CONC)(5IN) -extended limits to eliminate need for GABI Field change approved/confirmed by LG Representative. See CP 04 2. ADD ADA accessible parking stall. Field change approved/confirm Representative. See CP 05 attached. ADD 40 LF of CONC CURB TY C2 as directed by LG representative attached. 4. ADD Scour treatment as directed by LG representative. *All ADD and DEDUCTS BASED ON PROJECT UNIT PRICING*	District: Contract Number:	Georgetown Office			
5. New or revised plan sheet(s) are attached and numbered: n/a		***			
Each signatory hereby warrants that each has the authority to execut	e this Change Order.				
By signing this change order, the contractor agrees to waive any and all claims for additional compensation due to any and all other expenses; additional changes for time, overhead and profit; or loss of compensation as a result of this change. Further, the contractor agrees that this agreement is made in accordance with Item 4 and the Contract. Exceptions should be		_ Days adde	d on this C.O.:		
noted in the response for #5 above.		s change order:			
THE CONTRACTOR Date	For TxDOT use or Days participating:	ily:			
Ву	Amount participating	g:			
Typed/Printed Name	Signature		Date		
Typed/Printed Title	Name/Title	······································			
RECOMMENDED FOR EXECUTION: Drew Carman, Project Manager Name/Title Date	Name/Title ⊠ APPROVED	REQU	4/14/2020 Date UEST APPROVAL		
Name/Title Date	Name/Title APPROVED	Oh □ REQI	UEST APPROVAL		
Heather McNeal, Project Engineer Name/Title Date	Name/Title APPROVED		4/4/20 Date UEST APPROVAL		
Name/Title Date Engineer's Seal:	Name/TitleAPPROVED		Date		

APPROVED

By Tom Stanfield at 9:12 am, Apr 15, 2020



CP 04 CONCRETE DITCH RIPRAP

4/8/2020

ITEM	SPEC	DESCRIPTION - ORIGINAL BID ITEMS	UNIT	UNIT PRICE	QTY	
432	6002	RIPRAP (CONC)(5 IN) - EXTENDED LIMITS TO ELIMINATE NEED FOR GABION.	CY	\$440.00	16.00	\$7,040.00
459	6007	GABION MATTRESSES - NOT NEEDED. CONCRETE RIPRAP USED IN LIEU OF GABION	SY	\$300.00	(24.00)	(\$7,200.00)

(\$160.00)

TOTAL

(\$160.00)

ADDITIONAL DAYS REQUESTED

NA

THIS ESTIMATE IS BASED ON:



CP 05 ADD ADA PARKING

4/9/2020

ITEM	SPEC	DESCRIPTION	UNIT	UNIT PRICE	QTY	_	
NA	NA	ADD ADA PARKING FOR ACCESSIBILITY.	LS	\$8,500.00	1.00	\$8,500.00	
			A			\$8,500.00	•

INCLUDES:

DEMO AND HAUL OFF EXISTING CONCRETE

GRADE FORM & POUR NEW CONCRETE PAVING

GRADE FORM & POUR NEW CONCRETE SIDEWALK

TOTAL

\$8,500.00

ADDITIONAL DAYS REQUESTED

NA

THIS ESTIMATE IS BASED ON: DRAWING FROM RVI



CP 06 - ADD 40 LF OF C2 WALL

4/8/2020

ITEM	SPEC	DESCRIPTION - ORIGINAL BID ITEMS	UNIT	UNIT PRICE	QTY		_
529	6027	CONC CURB (TY C2) - ADD 40 LF FROM STATION 243+00 TO 243+40	LF	\$145.00	40.00	\$5,800.00	
					I	\$5,800.00	,

TOTAL

\$5,800.00

ADDITIONAL DAYS REQUESTED

THIS ESTIMATE IS BASED ON:



CP 07 - SCOUR TREATMENT AT OUTFALL PIPE

4/8/2020

ITEM	SPEC	DESCRIPTION - ORIGINAL BID ITEMS	UNIT	UNIT PRICE	QTY	
432	6022	RIPRAP (STONE COMMON) (DRY) (6 IN)	CY	\$135.00	27.00	\$3,645.00
531	6001	CONC SIDEWALKS (4")	SY	\$42.00	10.00	\$420.00
	L				-	\$4,065.00
		SAWCUT & REMOVE CONCRETE	LS	\$600.00	1.00	\$600.00
		PIPE UNDERDRAIN	EA	\$405.00	1.00	\$405.00

\$1,005.00

TOTAL

\$5,070.00

ADDITIONAL DAYS REQUESTED

NA

THIS ESTIMATE IS BASED ON: